@Z_ &) E @@ 100 REEHTET BN RDER )
Z2E TR A5 Aa7:
4.981 x = 49.81 2.68 x = 268

3.774 x = 3774 9.292 x =92.92

9.574 x =95.74 2.454 x = 24.54

1.112 x =11.12 4.32 x =432

1.84 x =184 10.215 x =102.15
10.858 x = 1085.8 9.184 x =918.4

10.707 x =1070.7 6.356 x = 6356

4.717 x = 4717 6.932 x =69.32

1.695 x = 1695 4.412 x =441.2

10.55 x = 1055 3.27 % =327
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4981 x 10 = 49.81 2.68 x 100 = 268

3.774 x 1000 = 3774 9.292 x 10 = 92.92

9.574 x 10 = 95.74 2.454 x 10 = 24.54

1.112x 10 = 11.12 432 x 100 = 432

1.84 x 100 = 184 10.215 x 10 = 102.15

10.858 x 100 = 1085.8 9.184 x 100 = 918.4

10.707 x 100 = 1070.7 6.356 x 1000 = 6356

4717 x 1000 = 4717 6.932 x 10 = 69.32

1.695 x 1000 = 1695 4412 x 100 = 441.2

10.55 x 100 = 1055 3.27 x 100 = 327
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